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Unit 1 — Functions

Review

1. Determine which numbers in the set are natural numbers.

0, —13, v17,-4, (D ®

2. ldentify the rules of algelgra for each step:
(g—3)+3=
g+ (-3+3)=
q+0=

q

3. Given x? + y% = 9, use the algebraic tests to determine symmetry with respect to both axes
and origin.

-akis \_/—asw'S o\riﬁif\.
z O+ y2=9 (-9 +(-y) =9
‘-,\.L—-y) =94 2 2
}Lx""\l"‘— B x*y*za x4+ y*:=49
NG v v

4. Is the following equation represent y as a function of x?

y?—5x =2

Y::m— NO

5. Find all real values of x such that f(x) =0

3x+7 3)(.‘!’1 - O

x ~7
X = /3

6. Find the domain of the function:

4
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7. Given the following graph, determine the intervals over which the function is increasing,
decreasing, or constant.
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8. Determine whether the function i , odd, ither:
etermine w : er 2 e runction i1s 2/5[’;;)\ or nelther OM
f(x)=x3-3x*+5 - . 2 3 ey
. Yz (-¥)?-3(x) ¥ Y )‘ e s
Nether 3 N yz x3+3x
YZ X -3x +5 N O
o
For problems 9-13: Given f(x) = 4x? —-,\7‘x and g(x) =9 — x find the following:
9. (f—g) (x) 10. (fg) (x) 11. (5) @
“4y - px -9 (>4 -x) 2 e — 12
3ex? -4x3 - LB < F1F a-x
—-“\\(,3 ;- ‘-fSL“ -L3x
12. (f+g)(-3) 13. f(g(x))
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14. Find the inverse of f(x) = Vx + 2, list the domain of the original and the inverse.

Y= Vxaz <« ou ™ X=-2 p: [-2,”
x= Vyiz e: o, o)
VSRR e

x:- 2 =N «— an® XZo

15. Verify the following two functions are inverses of each other.

fG)=5x+1 gty ==

- (Sx-H)-'l
£la6a) = &( 2 )+ g (e69) = .
-1+l =X Ox _

= <z - X

16. Graph f(x) = x3 + 4 and its inverse on the same graph.
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—x+3,forx <3 .

17. Graph: f(x) = {x—3 forx >3
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18. Write the equation of a square root function that has reflected on the x-axis, vertical
stretch of 2, horizontal shift left 1 and a vertical shift down 4.

FGy= -2V xrr -4

19. Give the parent function, the transformation in words, and domain and range in interval
notation of the following: ’
£0) = 1)

FG) = —IX+31+ 5 lee 3 .
reflected OV X oS
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20. Given f(x) = x% + x + 2, simplify i"‘L;'f@ hs<0
£0a+i) = ()™ ()42
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